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LLL 111 B88B8BBB8BBBBEAB RRRRRRRRRRRR 17T LLL
LLL 111 B88B8BBBBBBBB RRRRRRRRRRRR 17T LLL
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LLLLLLLLLLLLLLL IIII1111] B8888BBBBBBBB RRR RRR TT7 LLLLLLLLLLLLLLL
LLLLLLLLLLLLLLL IT1111111 888888888838 RRR RRR 177 LLLLLLLLLLLLLLL
LLLLLLLLLLLLLLL ITIIIIIII B88B8BBB8BBBBBB RRR RRR 17T LLLLLLLLLLLLLLL

l

[

w
~

T e e rrrr e e rrrerr |
ot b 0t Bt bt bt et P Bt Bt Bt Bt (e G G Bt Bt (e ot Bt o o ot ot ot B ot Bt ot |

e B mng bt et

—rr

o, e
et et Pt Bt bt b




-1

Oe= ‘*sctscnsnsscasacasasatesasacarace .
|
|
|
|
. . . .
.« & = @
.« s s @
L2 . -
momaoom o
@ amm o
o o o
o [+ 0] o] [ea)e o)
[ea]s ] am o
maom o o
[+ o] o] o [ea]ss]
OOOOOOOOOOOMO@MO
OOOOOOOOOOOOOD
~
(s Lo
LD o
[ ] QO [ Y
[T D
T [ Y]
[T D
oo Lo
(W] e
LLUUOUOLLLOUOVOY
LU UODOLDDOO
LSRN o
[ LS (=L
P L
oo Lo
oo Lo
oo o
[T Lo
(S D
DO WDOLOWOWDWOLLUOW
LULUOULOLUOULLOLO
wwv wvmuvmunwv v wvnviun
wwv wuunwm wuv wununwvm
wwv wwv " v wwvm v
ww wwvm wwm " wwvm v
wwv wwv wwv wvwvm wwv wuv
wwv wv w"uv wv wwv wvwv
wwm wuv wuv (%1% wv wu
" v wvwvm wuvm wuv wwvm
VNNV wvuv (Pl X% 1% LAt
VNV (717} (11717} v
[
——
—— ey g —
—— - -.l.l

*+F [LE++]D*+0TSC(B

R el o e e e e
el ¥ Sl g Soy Sy Sy Sy -

8888888888

- -

8888888888

e — g
e g e
- —d
-
-
]
- d
- d
- d
-
AdDd DD DDA I I I I DI
e e e e d A D




0T1S$8C(B

TR TR R R R R e e e L O L T L L L L T T L L e I I T T T mmMMm MMM T LU IO T T Y

'h‘MFJﬂﬂUﬂﬁUﬂﬁggdUﬂdUﬂUh”Uﬂ”Uﬁ”Uﬂ”Uﬁha-ha—ha_hu-mg_a
NN =4 O O 00 O N 8 N = © O 00 O VN 8 N = O 0 00 ~JON VN 8 i) —

AR SSSE
VIS WWIN = OOV NO VS WM = OV ~NONW

w
~NOo:

6
18-550-1984 01:22: AX=11 BLiss=32 V4.0-74 .
12-80001980 92:85:98 YlYant.Biansordcre 95D -
001 0 MODULE OTSSSCCB ( ' Push, Pop, Allocate. and deallocate LUB/ISB/RAB
§8§§ IDENT = *1-057" | File: OTSEcR B35 Fq1c "fuiga) ocate LUB
s

22

BEGIN

!"'Q"'.."""'t'.'it'.t.t'it'.'.t"""'t"""t'.'.""t'.t""'.'."'.'.

i COPYRIGHT (¢) 1978, 1980, 1982, 1984 BY
i DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
is ALL RIGHTS RESERVED.

]

L

H ]
is  THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED +
is ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER +

i« COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY +
is OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY +
is  TRANSFERRED. B
L

]

]
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L

|
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i# THE INFORMATION IN THIS SOFTWARE 1S SUBJECT TO CHANGE WITHOUT NOTICE
;: ?ggpogx??hz NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

i= DIGITAL ASSUMES NO RESPONS
i= SOFTWARE ON EQUIPMENT WHIC

IBILITY FOR THE USE OR RELIABILITY OF ITS
H IS NOT SUPPLIED BY DIGITAL.
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144
88 ? ; FACILITY: Language support library
83§§ g ABSTRACT:
0034 i This module supgorts pushing and popping of the CCB, the
0035 ! common control block for the 1/0 part of the RTL. Currently,
0036 ' onl¥ BASIC uses this module, since FORTRAN does its own
88%7 E manipulations.
88‘§ g ENVIRONMENT: User mode, AST Level or not or mixed
8821 g AUTHOR: Thomas N. Hastings, CREATION DATE: 01-June=77
§82§ g MODIFIED BY:
045 11} Thomas N. Hastings, 01-June-77: VERSION 01
004 ' - oriainal
804 ' Q- 9 = Set RMS RABSV_UIF bit TNH 19-SEP-77
Obg ! 0- - Set RMS RABSV TPT bit (truncate on seaucntial $PUT not at EOF TNH 24-SEP=-77
004 ! Q- 8 - Use FORSSSIG_RO_LUB since no LUB. TNH 24=SEP-77
50 ! Q- - Set RAB bits for read-ahead, write-behind, locas, mode JMT 21-0CT-77
051 i 0-31 - Use FORSK_abcmnoxyz as fXTEﬁNAL LlTERAbs. TNH 27-0ct=7
OS; ! 0- g - Made sogond arg optional. TNH 9-Nov=7
g ' Q- = Use OTSS FATINTERR. TNH 01-Dec=-77
4 ! 0=34 =~ Clear FAB after call to LIBSGET_VH, TNH 9-Dec-77
§5 1 i 0-35 =~ Call FORSSIG_FATINT, TNH 30-Dec-77
S? ! 0-36 =~ Have (B_POP signal FATINT if LUB not active;
05 ! Add roufine CB_CND_POP to conditionally pop if LUB active,

......i......-.-...o...o...o!.l-.-.....c.-‘o.-.c...c'..o.o.-'-.olo.-..c-.-.-.o.-.ulo.n.o.-.-.o.-...o.-.o.a.-.o.-..




TS$SCCB g Sep=-1984 AX=11 Bliss=32 v&.0=742 Page
0.3%% 23e0-108¢ D0:88i30  MMieRt.eARSoricle 0304 oot
g othoruiso NO=-OP (0TS oxit handlor calls this). JMT 10-Jan-78 :

Remove SND POP; I d dn s rea 5 want 1t, anyway... JMT 11=Jan-78 Y
Global ro stér (B, JMT re é
Change to STARLsT l*brary. D P 20-Apr-78
Change REQUIRE files for VAX system build., DGP 28-Apr-78
Chango STARLE to RTLSTARLE to svoid conflicts. DGP 1-May-78
Make Jsg nka e. TNH 1 -Hl
Use FORSSGET_VA with new opt 35 end ,rg TNH 21-May-78
Remove settin ISB to =1. TNH 30-May-
Add san t{ chock of data base. TNH 10=June-78
Add call 0 FORSSSIG DATCOR TNH 10=June-78
Add FORSSCB_GET ontr* 1or non=s arod 8::033 so OTSSSA_CUR_LUB. TNH 2-Aug-78
m

Fix AST rc-ontrnnt t 8 gso. ~Aug=-7
Le name to FORCB.B and chon e thc names of the

~ N

wvnn

SEIGHTRARZS

— — d D > c:C’c":‘:‘:‘:"‘:‘:""‘:
PP P 0D O
COOOC WAL S50 NN

7 Chan
7 007 REOG!RE files similarly. JBS 1 A-N V=7
7 007 =001 - Update version number and coayr ht noticc. JBS 16-.0v-78
74 0074 - g = Change LUBSB LUN to LUBSW LU DEC-78
75 0075 - = Change REOUIR file names from FOR... to 01S... JBS 07-DEC-78
76 007 =004 = Include TNM's version uh ch u;zs a bit table to provide
77 007 AST re=-entrancy. JBS 11-DEC-
78 0078 =005 = Remove REQUIRE of OTSMAC; not needed. JBS 11-DE(C-78
79 0079 1-006 - Add FORSSCB_N XT which gets ;ho next LUN for the CLOSE Loop
80 0080 in FOROPEN .B32. JBS 11-DEC
gl 8831 1-007 - Féaﬂcod ng orrors ;3 roassca NEXT and make OTSSSAA_LUB_TAB
8 008 1-008 - Change filo and nodulo name to OTSCB and add specialized
84 0084 BAS C ontrg points This is in preparation for recursive
85 0085 1/0. JBS -7
86 0 1-009 - Add BASSS(B_ CLEANUP JBS 29-DEC-78
87 0087 1010 - Add recursive 1/0 for BASIC. JBS 0B8-JAN-1979
0088 1-011 = Divide into three modules: OTSCCB, FORCB and BASCB. This
0089 module, orsccg contains the languago-indopendont code.
0090 JBS 09-J
888; 1-012 - R:agor OYSSSA SUR LUB and set I/0 Active when popping.
009 1-013 - lex cases of popping recursive 1/0.
oea: A .
0095 1=014 - Fix an error in collin? LIBSSTOP, JBS 16=-JAN=1979
009$ 1-015 = Push and Pop the RMS timeout field in the RAB. JBS 16-JAN-1979
009 1-016 - Use the DEALLOC bit in the LUB to interlock deallocation of
0098 the LUB/ISB/RAB rather than disabling interrupts, and be
0099 clcvoror in other placgs 30 that interrupts need never be
0100 di sabled. JBS 3=JAN-

1-017 - Don't clear OTSSSV_IOINPROG if the LUN we just popped is the same
unit we just fin ishod using. (Thi is the most common case
of rocursivo 170.) JBS 24=JAN-197
1-018 - But if there is no poppod unit, do iloar OTS$SV_IOINPROG. (This is
th most common case of non-rocurs ve 1/0!). JBS 24~JAN-1979
1-019 - Dividc into more internal subroutines in an attenpt to speed
‘ common pushing and popping caso, by avo 9 ng the
saving ?f unnecessary registers,
1-020 - Change Linkage for OTSSPUSH_CCB to JSB (B P SH .nd for
OTSSPOP_ CCB to JSB_CB_ POP JBS 25-JAR-197
1-851 Clear longt OANBro. u u r uhon pushing. JBS 26-JAN-1979%
1-022 = Remove ls 8 ean |/0 using a stack
frame nstead JBS é 6-J
1-023 = Change to double dollar signs since thes2 entry points are
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1 not for use by users. JBS 26=-JAN-1979
1 1-024 = Deallocate the LUN after the LUB/ISB/RAB h?g 8000 deallocated.
1 Note that OPEN allocatos it. JBS 26-JAN
1 1-025 = Make the table stora? 0 en hough it is used b{ INSQUE
1 and REHOU‘ instruct ?ns. ¥ nit alig it at run time.
This roqu res disab ASTs during initia 1zation Sut it is
12026 done only once por nago activotion. JBS

Rearrange the order of some of the man gulss ons isrsakc

PUSH and POP really AST re-entrant. =JAN=

1-027 = Make these rout nos AS? reentrant
in the face of deallocation at AST lovol. JBS 31=JAN-1979
1-028 - 1f 5UBSV SER RBUF is set, don't deall zlto th; record
t bclongs to tho usor' JBS
1-029 - Cloar tﬁo uddy's buddy Eo ns’r, which points to us, when
deallocating. JBS 16-F
1-030 - Print an error ncssaoo if the ISB ovorlag the LUB. This can
apY:Etigtthn LUB s :xtonssd but the ISB is not edited to
1-031 - lnltializo LUB 0 BFA QUEUE. JBS 05-APR=-1979
1-032 = Don't free the file name str ng unloss it has been allocated
in virtual ncnory. JBS 10=AP
1-033 - on t frec t 3 record buffer unless it has been allocated.

1=034 - Fre; thc con 1lod format, if allocated. SBL 27-Apr-1979
1-035 SBL1035 - Set 1SBSW FMT_LEN to zero on allocation. SBL 4=May-79
1-036 - Change CASE off rcsulf of REMQUE to match what is
actually gi ° { hat function. SBL 9-May-1979
1-037 = Change roquir file name to OTSCCBREO s0 as not to conflict
with this modu.e at s astou build time. SBL 10-May-1979
1-038 - Move clearing of ISBSW_FMT_LEN to allocation stggo. Sss 14-May~1979
1-039 - Fix bug in compiled format™ doallocation SBL ~May=-19
1=-040 - Fix another one. Lenath must be passed as address of a word!
1=041 = We overlooked the REMQUE in DEALL CATE. SBL 17-Hay- 979
So, we ha;o to construct a tcng SBL 1 -".l- 79
1-042 - Clear lSB W_FMT_LEN during PUSH, so that PO uon ’
to deallocate the format prcnaturol{ JBS 2 -HAY 19
1-043 - Set up LUBSA BUDDV PTR during alloca 0. JBS 30-MAY-=1979
1-0%4 - Make much of the data structure gl o 3 f'" be
referenced diroﬁtl{ by FORSSCB BS 2 -JUN-
1=045 = Do ari RMS SWAIT if there is 6/0 active on the unit we
are startin'. JBS 25-JUL=-1979
1-046 - Don't make OTS$SQ_JO_ACTIVE global JBS 26=JUL=1979
1-047 - Slvo ho pronpt Buffer only it real ‘ is a prompt buffer.
5 s; buffer, the koy may be in read-only storage.
JBS 9-AU 6-1

1-048 - Move the global parts of the data base to OTSSSCCB_DATA
s0 this module need not 20 loadsg only FORTRAN programs
are in the insg JBS 16-AUG~1

1-049 = Return CCB as fron POP to indicate 8callo§l§ion. JBS 17-AUG-1979

1-859 Correct an error in a comment. JBS 1

5 vhen deallocat np LUB‘A _BUF BEG points to the buffor. in lsssto
mode, LUBSA_RBUF _ADR may go int to RMS space. JBS 13-SEP-1

1-052 - R:agvg'tsg r?;’roncos to ISBSW_FMT_LEN; now done in FORCB.

1-053 - nggv arggoronsss to LUBSQ_BFA_QUEUE; no longer used.

1-054 - Correct a minor typo. JBS 24-0CT-1979
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: 3 1 1 ! 1-055 = Use th, ne ? Y?f cell in the LUB J? 13-N0v-1979

3.3 1 ¥ 3 l- 9 - Don't initia table on ries in u?o gx RTRAN, JBS 14-JAN-1980
: 3 1 11! 1- - Take out cloir ng of RABSB PS (put it S$$10_BEG)

: 175 1 1! to make locality consistenf. FM &=-SEP-19

: 17? 17? 1 le=

: 17 177 1

: 178 178 1 !<BLF/PAGE>
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orsssccs (6-sep-1o8 QLigd0 a1 BLiss32 vi.0o0e2
;1

3 179 1!

3 } 1 } } ; SWITCHES:

P 1 g 1

: } : } 2 } SWITCHES ADDRESSING_MODE (EXTERNAL = GENERAL, NONEXTERNAL = WORD_RELATIVE);
= 185 1!

3 } } } E LINKAGES:

P 188 1 :

: }91 11 } REQUIRE "RTLIN:OTSLNK'; ! Define LINKAGES

; 195 18 1!

: }g‘ ? } ; TABLE OF CONTENTS:

;195 622 1

3 19? i 1 FORWARD ROUTINE

: 19 0624 1 INITIALIZE : NOVALUE, ! Set up the LUB table and the active queue
: 198 82 5 1 PUSH_FAKE : CALL_CCB ! Push fake record

;199 g 1 PUSH™ACTIVE : CACL_c(B, i Push active LUB

: 00 06 1 ALLOCATE : cALL_CCB, ! Allocate LUB/ISB/RAB

3 01 0628 1 CTSSSPUSH CCB : JSB (B _PUSH, ! Get the CCB, push old use of it
3 Oi 0629 1 DEALLOCATE : CALL_CCB ROVALUE, ! Deallocate LUB/ISB/RAB

3 0 82 0 1 POP _ACTIVE : CALL_CCB NOVALUE, ! Pop active LUN

3 82 °6§§ } OTSSSPOP_CCB : JSB_CB_POP NOVALUE; ! Restore old use of CCB

: 1!

: 89 i& 1 ! INCLUDE FILES:

3 83 0635 } !

E }? 08%2 } REQUIRE °"RTLML:0TSISB'; ! get Llength of ISB

: }g 0%26 } REQUIRE °*RTLML:0TSLUB'; | get length of LUB

5 }g gg:’ } REQUIRE "RTLIN:RTLPSECT®; ! Define DECLARE_PSECTs macro
; }9 }?2% } REQUIRE °"RTLIN:OTSCCBREQ'; ! Define interface to OTSSPUSH_C(CB
: }3 }}2; } LIBRARY 'RTLSTARLE'; | STARLET Library for macros and symbols
;220 1144 1!

: % }}2; } E MACROS:

; 1147 1

3 4 1163 1 MACRO

: S : }}go } . TEST_LUB_ISB =

: ? M 1151 1 | Give an error message if the ISB and the LUB overlap. Try to make the

3 8 M N ; 1 ! message explicit enough to tell }ho n*intainer exactly what to do, since

: G mNn 1 ! it will print only when the RTL is be ng modified by someone who does not

: M 1154 1 ! know about the LUB-ISB dependency, and therefore may need a Lot of hand-

3 i = }} ; } ; holding.

: M 1N 1

: MmN s 1 XIF (LUBSK_NEG_BLN NEQ ISBSK_NEG_LUB)

3 b) : }}60 } XTHEN

I
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16=-Sep=-1984 (01:22: AX=11 Bliss=32 v4.0=74
12-ch°1336 ?;:;3:;8 LIBRTL.SRC OTSC 2.?
COMPILETIME
VAL]1 = -]SBSK_NEG_LUB,
VAL2 = =LUBSKNEG_BLN:
lERR?R (' LUO’K NEG_BLN is not equal to ISBSK_NEG_LUB.'
. is proSobly means that the LUB has béen éxtended',
uithout edi ting the ISB to allow for it, Please edit file OTSISB.MDL, making the -F,B,"',
9 Be-7.8.,0 INUMBER CVAL2))

I INUMBER (VAL1)

g EQUATED SYMBOLS:

LITERAL

R
K_TOTAL_CCB_LEN = LUBSK_LUB_LEN + [SBSK_ISB_LEN + RABSC_BLN; ! length of LUB+ISB+RAB

1
; PSECT DECLARATIONS:

?ECLARE_PSECTS (0TS);
g OWN STORAGE :

'0
i The folloning 3uaduord is the header of the 1/0 active queue. Items
: are manipulated on this queue using the INSQUE and REMQUE instructions.

! declare PSECTs for OTSS facility

OTS$Q_IO_ACTIVE : VECTOR [2);

g EXTERNAL REFERENCES:

EXTERNAL ROUTINE
LIBSGET VM,
LIBSFREE_ VH
LIBSSTOP™: NOVALUE,
OTSSSFREE_LUN;

EXTERNAL LITERAL
OTSS_FATINTERR : UNSIGNED (XBPVAL); ! condition value for FATAL INTERNAL ERROR

‘e ! IN RUN=TIME LIBRARY error.

i The following externals represent the global part of the ((B
: data base.

Allocate virtual memory
Deallocate virtual memory
Signal a fatal error
Deallocate a LUN

EXTERNA
orsksv CCB_INIT : VOLATILE, ' True if INIT done
owssgAl LUB_TAB : VOLATILE OTSSSLUB_TAB ST |
-L0BSKTILUN n1u “ Luss _LUN_MAX + T, LUBSK_ILUN_MIN], ! Pointers to C(Bs

Page
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(2)
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Page

3 1218 1 OTS: v, lOlNPROG : VOLATILE BITVECTOR, ! True if LUN has 1/0 active

: S 1 1 OTS$SA-C i The current t

: 1 1 OTsa L CUR %gn ! Thc curront ogical unit

: 3 } } OTSSSLOLVL ! =1 = JLDE, 0 =1 1/0 in progress.

: 98 1 g 1 BUILTIN

: 300 1226 1 INSQUE, ! Insert an item in a queue

;. 301 1225 1 REMQUE ! Remove an item from a queue

; oi 1 9 1 TESTBITSS, i Test bit, set it, return true if it was set.

: } 4 } TESTBITCC; ! Test bit, clear 1(. return true if it was clear.
: 505 1229 1 '<BLF/PAGE>

7

(2)

-0

(TR R R A s T R TR TR T E TR T A PR TR DR T L T L L N T N T T T R TR A LR R A R T S R T ST R T T ETE ST L L™



e e e e e e e e e e e e e e e e D o o D o el il il e
VANV LSS 55 85 85 85 B 85 8 B S WL NN IS

OSSN = O O 00 N WSS N = O O 00 NN NS N = O

WA R NN AR PRI NI NI NINININ b b b b b d e b b b
W-‘QODNOM&W—‘O”%MFWJO%Q

LR LR L L R T T R R TR TR TR TR TR T R R TR T T P R TR TR LR L )

6
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1 1+

1! The folLouin' field set represents an item pushed onto the

1! 1/0 Active List. It contains the ISB, the prompt buffer, the

1 ! current size of the prompt buffer, and the timeout value from

} ; the RAB.

1

1 FIELD

} PUSHSHEH =

1 PUSHSA_NEXT = (0, 8. XBPVAL, 01, ! Next item

1 PUSHSA_PREV = [4, 0, XBPVAL, 0], ! Previous item

1 PUSHSL_STS = 0, XBPVAL, 0 ! RMS status

1 PUSHSL-STV = [12, 0. %BPVAL, 01, i RMS extra status

1 PUSHSW_LUN = (16, 0, 16, 1), ! Logical unit number

1 PUSH$B_PSZ = (18, 0, 8, 8%. ! Prompt buffer size

1 PUSHSB_TMO = [1 . 8, 0], ! The RMS timeout value
1 PUSHSV_10 ACT = 82 1, 03, i The 1/0 Active flag

1 PUSHSV_FARE = 55 y by 93. i The ‘take” flag

1 PUSHSV_PMT = [ %. 1« 03, ! Set if there is a prompt buffer.
1 PUSHST-PROMPT = (21, 0. 0, 02, ! The pron?t buffer

} gggusx_lsa = [LUBSK_PBUF_§12 + 21, 0, 0, 0] ' "The 158

1 L]

1 LITERAL

} PUSHSK_LENGTH = 21 + LUBSK_PBUF _SI1Z + ISBSK_ISB_LEN; ! Number of bytes to allocate
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ROUTINE INITIALIZE : NOVALUE = ! Set up OWN storage

144
E FUNCTIONAL DESCRIPTION:

Set up the LUB table, I/0 Active queue and OTSSSL_CUR_LUN.
The LUB table and 1/0 active queue must be set up~at Fun time
because they must be initialized with addresses, and this
sannot be done at Link time or }he¥ will cease to be position
ndependent. ThoY must be initialized with addresses because
they are used by INSQUE and REMQUE to avoid disabling ASTs.
CALLING SEQUENCE:
IF (NOT .OTSSSV_CCB_INIT) THEN INITIALIZE ();
FORMAL PARAMETERS:
NONE
IMPLICIT INPUTS:
OTSSSAA _LUB_TAB
0715$$0_YO _ACTIVE

0TS$$V_10INPROG
OTS$SL_CUR_LUN

IMPLICIT OUTPUTS:
OTSSSAA_LUB_TAB
015$80_YO_ACTIVE
0TS$SV_I10INPROG
OTSSSL_CUR_LUN
OTSSSV_CCB_INIT

SIDE EFFECTS:

NONE
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BEGIN
LOCAL
'+

i The following cell keeps track of whether or not ASTs were disabled
E when we were called.

AST_STATUS;
'+
! First disable ASTs, Then, if the ini
| done, do it. The initialization will
; off between the test of OTS$SSV_CCB_IN
" AST_STATUS = SSETAST (ENBFLG = 0);

IF ( NOT ,OTSSSV_CCB_INIT)

jalization has not yet been
have been done if an AST went
T and this point.

t
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0 ccB %-509-19 4 AX=11 Bliss=32 v4.0-74 Page 10
-82’ -Sep-1984 ?% is gg LIBRTL.SRCJOT SC B.B3 2.% . (4)
: 39 1314 THEN
: 9 } }S e BEGIN
: 95 1 19 | We must do the initialization. First set the LUB table to be empty.
3 99 1 18 ! Note that LUBs in use by FORTRAN are not touched. FORTRAN lLeaves the
: 33 } 1o E first longword non-zero for entries it is using.
;399 1391 3 °
: 400 1 INCR LUN FROM LUBSK_ILUN_MIN TO LUBSK _LUN JMAX DO
;. 401 1 § IF (,OTSSSAA LUB TAB~[. hg 8? el 8) THEN
: 28; } g OTSS$AA_LUB_TAB [.LUN, = OTSSSAA_LUB_TAB [.LUN, 1] = OTSSSAA_LUB_TAB [.LUN, 0];
P 404 1 e
: 282 } z ; Now make the I1/0 active queue empty.
g 28; } 8 " OTS$Q_IO0_ACTIVE (0] = OTS$SQ_IO_ACTIVE [1] = OTSSQ_IO_ACTIVE [0];
g 2?3 } 1 g Mark that the initialization has been done, so it won't be done again.
g :}1 } g g;gssv_cca,xnnr B
; 41§ 1335 ;s
;0 614 1336 ‘e
: 415 1337 ! If ASTs were enabled at entry, re-enable thenm.
Poay 1339 5 °°
% 2}8 }it? IF (LAST_STATUS EQL SSS_WASSET) THEN SSETAST (ENBFLG = 1);
P 420 134; RETURN;
;e 13643 1 END; ! of routine INITIALIZE
LTITLE 0T1S$$CCB
LIDENT \1=057\
PSECT _OTSSDATA ,NOEXE, PIC,2
00000 OISSO_IO_ACTIVE:
.BLkB 8
EXTRN LIBSGET VM, LIBSFREE VM
.EXTRN LIBSSTOP, OTSSSFREE CUN
.EXTRN OTS$ FATINTERR, OTSSSV_CCB_INIT
.EXTRN OTS$SAA_LUB_TAB
.EXTRN OTS$$V_T3INPROG
LEXTRN OTS$SA_CUR_LUB, OTSSSL_CUR_LUN
EXTRN OTSSSL_LVL_CTR, SYSSSETAST™
.PSECT _OTSSCODE ,NOWRT, SHR, PIC,2
003C 00000 INITIALIZE:
.WORD Save R2,R3,R4.RS : 1257
5 G 88 MOVAB svs;gerlsr. RS :
4 9 MOVAB OTS$SV_CCB_INIT, R§ :
3 ;F MOVAB OTS$SQ_TO_ACTIVE, R :
% D 8 1 CLRL -(SP)”" ;13
65 01 fB 19 CALLS #1, SYSSSETAST :
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65
gl 00000077
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_OTSSCODE + 0000

91 bytes, Routine Base:

: Routine Size:
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ROUTINE PUSH_FAKE : CALL_C(B = ! Push a ''fake'’ active record

144
; FUNCTIONAL DESCRIPTION:

Push onto the 1/0 Active queue a place holder. This is to
satisfy POP_ACTIVE when we can't actually push the CCB.

CALLING SEQUENCE:
CALL PUSH_FAKE ();
FORMAL PARAMETERS:
NONE
IMPLICIT INPUTS:

07S$8Q_I0 ACTIVE
OTSSSL_CUR_LUN

IMPLICIT OUTPUTS:

OTS$SQ_IO_ACTIVE Holds previous 1/0 on this LUN
SIDE EFFECTS:

Calls LIBSGET_VM to get virtual memory.

BEGIN

EXTERNAL REGISTER
CCB : REF BLOCK [, BYTE];

i LOCAL
g Declare the pointer to the block to push.

tgaﬂ : REF BLOCK [PUSHSK_LENGTH, BYTE] FIELD (PUSH_ITEM),

i LUN = ,OTSSSL_CUR_LUN;
g Get virtual memory to hold the fake activation record.
" BEGIN

OCAL

GET_VM_RESULT;
GET_VM_RESULT = LIBSGET_VM (XREF (PUSHSK_LENGTH), PUSH);
IF ( NOT .GET_VM_RESULT) THEN RETURN (OTSSK_PUSH_FAIL);
END;

'+
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: Routine Size:

5
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000C¢ 00000 pusu_rAxsaono
000000006 00 9 oooos MOV
0 cg 0000 SUBL
é 000C MOvVL
QF PUSHAB

MOVZuWL
F
1

68 bytes, Routine Base: _OTSSCODE ¢
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}2 1 ; Copy the old LUN into the fake record, and mark it as fake.

14 i " PUSH [PUSHSW_LUN] = LUN;

}2 g ., PUSH [PUSHSVZFAKE] = 1;

}209 g Put this item on the 1/0 Active List.

}283 " INSQUE (.PUSH, OTS$Q_IO_ACTIVE);

1410 2 | We also set OTSSSL_CUR_LUN to LUBSK_LUN_MAX+1 to prevent an

1411 ! AST from pushing that CUB again. AR exfra fush before this point
}2}; ; does not cause any harm (only wastes a Little time).

1414 0TSSSL_CUR LUN_= LUBSK_LUN_MAX + 1;

1415 RETURN™ (OTS$K_PUSH_0OK);

1416 END; ! of routine PUSH_FAKE

Save R2,R3
OTSSS%,CUR_LUN. R3

"8, S
OTSSSL_CUR_LUN, LUN
Pgsn

#289, 4(SP)

4(sP)

#2, LIBSGET VM
G§f_VH_RESU[T. 1$
#3,7RO

LUN, _16(R0O)
0¢(

82,2
(RO), 0TSSQ 10 ACTIVE
:}2oﬁoorssst_c0n_Lun
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grsssccs [f-sep-1o8 01:gait0  pAT BLiss-32 ve.07e2

s 497 16417 1 ROUTINE PUSH _ACTIVE (LOGICAL_UNIT, ! The new LUN
49 1418 1 RECURSIVE_I0 ! True 1f really recursive 1/0
4 1419 1 ) : CALL_CCB =
00 14 1
1 1621 1 !+¢
i }2 i } ; FUNCTIONAL DESCRIPTION:
84 1626 1! Place the ISB, etc. of the currontl5 active logical unit on the
b) 1425 1! 170 Active queue so that another 1/0 statement may be started.
0? 14 9 1! The 1/0 statement to be started may be on the same or another
0 14 1! logical unit as the one being interrupted. When the new [/0
08 1428 1! statement is complete the old one will be onfinuod. so the 1/0
?8 }2 3 } E active queue has a first-in-first-out discipline.
}1 }2 1 } ; CALLING SEQUENCE:
}5 }2 g } ; RESULT = CALL PUSH_ACTIVE (LUN, RECURSIVE_10);
515 1435 1 ! FORMAL PARAMETERS:
19 14 9 1!
1 14 1! LOGICAL UNIT.rl.v The new LUN
S}g }2 3 } ; RECURSIVE_IO.rl.v True if this LUN was already active
520 1440 1 ! IMPLICIT INPUTS:
521 1461 1!
S ; 164§ 1! OTSSSAA _LUB_TAB
ss 1443 1! 015$$a_TO _ACTIVE
524 1464 1! OTSSSL_CUR_LUN
g 5 1445 1!
6 1‘6? 1 ! IMPLICIT OUTPUTS:
527 14467 1!
g g }:23 } E OTSSSQ_IO0_ACTIVE Holds previous 1/0 on this LUN
2;? }23? } ; SIDE EFFECTS:
SS; 165; 1! Calls LIBSGET_VM to get virtual memory.
3 1453 1 !==
gb 1456 1
5 1455 BEGIN
536 145?
537 145 EXTERNAL REGISTER
538 1458 CCB : REF BLOCK [, BYTE];
539 1459
&0 1460 LOCAL
41 1461 e
2; }22; ; Declare the pointer to the block to push.
S:g }:gg PUSH : REF BLOCK [PUSHSK_LENGTH, BYTE) FIELD (PUSH_ITEM);
569 166’ '+
4 146 ! If there is no need to push anything, push a fake activation
4«8 1463 ! record to satisfy POP_ACTIVE.
rH 6% 5°°
g% }2;; IF (,OTS$SL_CUR_LUN GTR LUBSK_LUN_MAX) THEN RETURN (PUSH_FAKE ());
5 147 '+
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b 7
TS$8CCB 16-Sep=-1984 01:22: AX=11 Bliss=32 v4&.0-74
?-82’ 1 -503-1936 95:§3=§g LIBRTL. RCSOTSCCB.BBZ:
s ! Check for this bcina an AST between the loarina of OTS$SV_IOINPROG
and the setting ot OTSSSL_CUR_LUN t? LUBSK LUN MAX + 1, IF it
cannot push the CCB[.sincc with RECORSIVE 10 clear

is w
owssgv_xoxupa G will be ared before the call fo poP_ActIvE,
and we might try to pop into a deallocated CCB.

5

SNSNNNNSN

N = OOV ~NO NS

- -

IF ((.OTSSSL_CUR_LUN EQL .LOGICAL_UNIT) AND ( NOT .RECURSIVE_I0)) THEN RETURN (PUSH_FAKE ());
CCB = .OTSSSAA_LUB_TAB [.OTSSSL_CUR_LUN, 0];

If the queue is empty then the deallocation code has removed the LUB
from the LUB table but has not yet popped orsss%_cun,tun. Since

the deallocation code will finish its deallocation no matter what

we do here we need not push anything. If any 1/0 is tried to this
LUN it will create a new LUB. The recursive fla? may be set
needlessly, but that will only cause a problem in langua,os which
do not support recursive 1/0, and, actually, the higher 170 has not
quite finished yet, so that is ox.

*

Iy YYs
W

RERSS38<2 2202238

IF (.CCB EQLA OTSSSAA_LUB_TAB [.OTSSSL_CUR_LUN, 0]) THEN RETURN (PUSH_FAKE ());

WVAVAIWVIA WA WAV

SIFA R AN ISTEIEHTFARZESH IS

s

! The LUB is still allocated, do some consistency checks.

i We cannot check OTSSSAA_CUR_LUB since we aa‘ be in an AST that

! occurred after the updafe of OTSSSAA_CUR_LUB but before QTSSSL_CUR_LUN.

~
0

! Copy the ISB and a few other things that need to be preserved
; over recursive 1/0 into the block we just allocated.

CHSMOVE (1SBSK_ISB_LEN, .CCB = ISBSK_ISB_LEN = LUBSK_LUB_LEN, PUSH [PUSHS$X_ISB]);
PUSH [PUSHSV_PAT) = .c(B CRABSV_PMTI:

S

S

S

ggi ; €CB = .CCB + (.CCB - CCB [LUBSQ_QUEUE]D);
sgg og IF (.CCB CLUBSW_LUN] NEQ .OTSSSL_CUR_LUN) THEN LIBSSTOP (OTSS_FATINTERR):
i 2 1.
587 0 ! Get virtual memory to hold the old ISB, etc.

588 08 ‘-
589 09 BEGIN
590 10
§91 1" LOCAL

gi }g GET_VM_RESULT;

ggg }g GET_VM_RESULT = LIBSGET_VM (XREF (PUSHSK_LENGTH), PUSH);
ggg }3 IF ( NOT .GET_VM_RESULT) THEN RETURN (OTSSK_PUSH_FAIL);
29& 13 END;

99 1 ‘e
28? ? ; Make sure there is no RMS [/0 active on the RAB.
o !
ggs 2 IF (_.RECURSIVE_IO) THEN SWAIT (RAB = .C(B);

605 ; '+
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I T T 3
IF (-PUSH [PUSHSV_PNT])

BEGIN
cufnoge (.iga (RABSB_PSZ], .C(B [RAgSL_PBF]. PUSH [PUSHST_PROMPTI);
Eggg PUSHSB_PSZ] = .(CB [RABSB_PSZ);

PUSH [PUSHSB_TMO) = .CCB [RABSB_TMO);

PUSH [PUSHSL-STS) = .CCB [RABSL-STS):

PUSH [PUSHSL™STV] = .CCB CRABSL STV

PUSH [PUSHSV™I0 A&TJ = .CCB CLUBSV_I10_ACTIVE];
PUSH CPUSHSVZFARE] = 0;

! Record the lo,ical unit number so that POP_ACTIVE knows where to
; restore this

tem when it is popped.

2 PUSH [PUSHSW_LUN] = .CCB [LUBSW_LUN];
5_Put this item on the 1/0 Active list.
INSQUE (.PUSH, OTSSQ_I0_ACTIVE);

g That LUB is no longer the active one, mark it so.

CCB CLUBSV_I0_ACTIVE] = 0;

i We also set OTSSSL_CUR_LUN to LUBSK_LUN_MAX+1 to prevent an
! AST from pushing that [UB again. AR exfra push before this point
! does not cause any harm (only wastes a Little time).

OTSSSL_CUR_LUN = LUBSK_LUN_MAX + 1;
RETURN™ (OTS$SK_PUSH_0K);
END; ! of routine PUSH_ACTIVE

EXTRN SYSSWAIT
00FC 00000 PUSH_ACTIVE:
WORD

.W0 Save R2,.R3,R4&,RS5,R6,R7
27 000000006 8 9 0083 MOV OTSSSL_CUR LUN, R7
E c2 000 SUBL2 #8, SP
00000077  BF ? ? 88? CMPL TSSSL_CUR_LUN, #119
9 4 BGTR $
04 AC 3 01 0001 CMPL ?TSS&L_CUR,LUN. LOGICAL_UNIT
4 15 1 BNEQ $
13 08 AC E 18 BLBC  RECURSIVE 10, 2%
6 90 1F 18: MOVL OTS$SL_CUR LUN, RO
0 oooooooosoo&g 5 2 MOVAQ OTSSSAI LUB_TAB+64[RO], RO
01 A ?ggt (23).R o]
' b e
86 AF 52 28: ge%Ls #0, PUSH_FAKE
B 58 (3 38: SUBL3 B, CCB, RO
ga 58 A04B 35 MOVAB Sg(ﬁO)ECCB]. ccB
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; Routine Size:

000000006

000000006

000000006

oo
~wn

DANO

© — —ain

MO bt
pl=leP J

219 bytes,

10

00

§0
4
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Routine Base:

000000006

0
8 15
F DD
1 B
& AE 9F
0121 8F 3C
& A f
F
4 g
08 AC E9
58 DD
« U}
oosc F gf
B
34 AS A
5
36 AB ég
1F AB
08 AB 70
i 8
Og 8A 0008
6 AB B0 8
66 OF
02 B8A 000CF
78 BF
01

4 0000A

_OTSSCODE + 009F

CMPY
BEQL
PUSH
CALL
PUSHAB
MOVZuL
PUSHAB
CALLS
BLBS

S3ep-i08 T2i88iR  MTeRn BeRetordcls sl

zg. #16, -58(CCB), OTSSSL_CUR_LUN

#OTSS_FATINTERR
#1, LIBSSTOP

H

:339 4(SP)

4(SPJ

#2, LIBSGET VM
ssf_vn_nesutr. 5%
#3,°RO
RECURSIVE_10, 6%
i svgsqut

98(C ), 601(&6)
)

)

alnle)
Is OONRBRRDOOBDONRERS
OO0O=-DOr-MOrn—

N~

BB~ I BRDWOWNDVIBDR R D 2
F

- =2 PO D NINNO =2 o~ = PO NINOON—=C

s N ONGDs & &8 Ymss o~ s » O D
x
O~OM@Mms & 8 Do s |
-4 =~ D OO~

o
D~
o

0
i

l

-3

L}

-0

wiho

(Vv

AR TR TR P P P PR P PR PR P PR PR PE PR PR PE PR PR PR PR TR PR TR P PR TR PR P PR TR TR T

VIWAWVIWVVVAWVIWVA. VWV WA

e e o D D i
oooVINAS S

SLWROONDW OOV




gy

331333333

&

SNSNNNN
VIS W =0 Y

~oooorO0rOrOOFMOMOMONONOM ooorOrOFMOMOMOMOONONONOM
R R R AL Lt db St ks

SS8S

TR TR IR R E N E N T R R O T T o o T e e e vl D L o o O o e o T o PRI . [ TR IR IR TR TR T ETE )

702

OO N NS AN = OO0 ~NO

2W—DSOQ VAN AN = OO 00 NOM N SS i) = O O 0 w

2358

2883

Wﬂw“"dddddddﬂdﬂddﬂddddddd‘dddﬂdd
-

O O O O O O VYW WA WA AW WA VAVAIVAUAIUIA

FoR

o
v

2

o

— e ol i i e il o el el ) e e ) D el D el ) D il el D D il D e e D e D D i D e e e ) D D D ) D e e e D D D D S D D il el i
o

oo OO OO
PON) = el s e o ol ol e e e OO
-3 OO 00 NN S N = OO0

7
(6-sen-1ogs 0B YNl BiE TR 14050
ROUTINE ALLOCATE (LOGICAL _UNIT) : CALL_CCB = ! Allocate LUB/ISB/RAB

lee

E FUNCTIONAL DESCRIPTION:

Allocate the LUB/ISB/RAB for this logical unit, watching out for
ASTs which may do the allocation as we are running.

CALLING SEQUENCE:
CALL ALLOCATE (.LOGICAL_UNIT)
FORMAL PARAMETERS:
LOGICAL_UNIT.rl.v The logical unit number for this C(CB
IMPLICIT INPUTS:
OTSSSAA_LUB_TAB
IMPLICIT OUTPUTS:
OTSSSAA_LUB_TAB
ccB

SIDE EFFECTS:

Calls LIBSGET_VM to get virtual memory.
May call LIBSFREE_VM to free that same virtual memory.

BEGIN

EXTERNAL REGISTER
CCB : REF BLOCK [, BYTE];

LOCAL
INSQUE _ADDR, ! Address for INSQUE instruction
REMQUE_ADDR, ! Address for REMQUE instruction
CCB_ADDR; ! Address of the allocated ((B

e

! Test the definitions of the LUB and ISB for consistency. This is

; purely a compile-time test; it generates no code.

"~ TEST_LUB_ISB;

i We must allocate. This case is a little complex since an AST may

! allocate the LUB, We handle this by preparing the LUB and then

; checking to see if an AST ailocated one. If so, we deallocate ours.

BEGIN

0CAL
GET_VM_RESULT;
GET_VM_RESULT = LIBSGET_VM (XREF (K_TOTAL_CCB_LEN), CCB_ADDR);

~ 00

Page (;
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Pasreee 16-Sep-198¢ 12:86:38  MLThr.®
. IF ( NOT .GET_VM_RESULT) THEN RETURN (OTSSK_PUSH_FAIL);

END;
LK

! Clear the newly allocated LUN an? RAB (but not ISB). Adjust the
' contont? of the control block pointer (CCB) so that it points to
! the beginning of the RAB. (The ISB and LUB grocood the RAB using
! negative offsets with respect to roristor €CB.)

! Set the unit number in the newly allocated LUB.

CCB = .CCB_ADDR;
CHSFILL (07 LUBSK_LUB LEN + RABSC BLN, .CCB + ISBSK_ISB_LEN);
CCB = .CCB + 1353!_155 LEN + LUBSR_LUB_LEN;

, cee CLUBSW_LUN] = TLOGICAL_UNIT;

Initialize RAB to constants which never change.

Block ID, block Length, and bit to make SPUT do SUPDATE if

record exists. Also truncate on sequential $PUT not at EOF.

Note: TPT bit depends on FOP TRN bit being set in order to take effect.
Set read-ahead, write-behind and Locate mode for GETs.

—
[ZedaS )

liss=32 v4.0-74
SRC’O CCB.BSZ:?

703
5

SN — O NONA SN

CCB [RABSB_BID] = RABSC_BID;
CCB [RABSB_BLN] = RABSC_BLN;
CCB [RABSV_UIF] = 1;
CCB [RABSV_TPT] = 1;
CCB CRABSV_RAH] = 1;
CCB [RABSV_WBH] = 1;
CCB [RABSV_LOC] = 1;

+

Set up %UBSA_BUDDY_PTR. If this CCB is not its own buddy, this

field will be changed during open.

CCB C[LUBSA_BUDDY_PTR]) = .(C(B;
i See if an AST has allocated this LUB/RAB/ISB while we were preparing
! ours above. If so, we use the allocated one. If the LUB was
! allocated by an Asf it cannot have 1/0 active, since the AST must
: coafloto any 1/0 it starts. In seito of this, it cannot be
; deallocated because we have OTS$SV_IOINPROG set for the LUN.
INSQUE_ADDR = OTSSSAA_LUB_TAB [.LOGICAL_UNIT, 1];
{;Ea NOT INSQUE (CCB [LUBSQ_QUEUE], ..INSQUE_ADDR))
BEGIN

'+
! This CCB is not the first in the queue, which means that an AST

A S A S S I3 A8 S A A A LS

césgiigggiunrncatnn~«>~nawunmac:<n-u?\nowuNpa¢><n.

— s el il ) il el D il D D i e i e e il el e i ) il D = ) D — —d D D D ) e D e il i i el D il il i ) el e e e B e i e e B D b

On.....ol..olo.....c.l.-.c.o...o'..o.oOQOo.o.-.-.o.o.a.-t-.o.o.-.o.a'i.-.o...a.-.o.-.o...oln.o.-.o...n...o.o.o.o.

670 ! has allocated one and put it in the queue before us. Remove ours
g;l ; and deallocate it. We will use the LUB previously on the queue.
g;g REMQUE _ADDR = OTSSSAA_LUB_TAB [.LOGICAL_UNIT, 1];

675 CASE (REMQUE (..REMQUE_ADDR, CCB)) FROM O TO 3 OF

67? SET

67

678 2] :

rove 38
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T$$8CCB 11-5. -1984 01:22: AX=11 Bliss=32 V4.0=74 Page 20 T
?-32’ 16-503-1336 ?5:;3:;8 LIBRTL.SRC OTSCCB.BBZ:‘ ’ (;) ?'i
;760 1678 3 1o 2
: ;g } ; Somebody removed the other entry. This should never happen. , ¢
: ;25 1 ; LIBSSTOP (OTSS_FATINTERR); | ;]
i 183 }§ ‘o (3 : : ]
: ;g? }g g The queue was empty. This is unreasonable because OTSSSV_IOINPROG is set. i 5;
; ;65 16 : LIBSSTOP (OTSS_FATINTERR); : ]
: mn 16 (o3 : :
s 17 169 '+ : |
s 17 169§ ! ALL is well. We can now free the ((B we just removed. £
: 176 169 ! It had better be the one we allocated. 2
g e )
: ;;' }ggg 4 %aeé(.cca + (.CCB = CCB [LUBSQ_QUEUE])) NEQA (.CCB_ADDR + ISBSK_ISB_LEN + LUBSK_LUB_LEN)) 2
;179 1698 LIBSSTOP (OTSS_FATINTERR); : }
: 780 1?99 : |
3 78; 1701 e ¢ ]
: 7 170§ ! This should never happgn: the only possible values from the REMQUE g4
3 ;gg };0 e function are 0, 2 and 3. ¢ !
: 786 1705 3 LIBSSTOP (OTSS_FATINTERR); : ]
;187 1706 TES; ]
; 788 170 2
: 789 1708 1+ ¢
: 790 1709 ! Now free the LUB we allocated. : 1
: 9 1710 i : 8
: 79 1711 4 BEGIN : 1
: 9 l71§ 4 2
;79 1713 4 OCAL £ 1
: ;95 };}g : FREE_VM_STATUS; i
: ;30 };}g z FREE_VM_STATUS = LIBSFREE_VM (XREF (K_TOTAL_CCB_LEN), CCB_ADDR); : }
: 799 };}g 2 IF ( NOT .FREE_VM_STATUS) THEN LIBSSTOP (OTSS_FATINTERR); . 1
P 801 1720 END; : |
: 0§ 1721 '+ : |

: 17 i ! Now ;ctch the CCB address. It must still be there because of ;
: 4 }; ? ! OTSSSV_IOINPROG. : }
; 1725 CCB = .OTSSSAA_LUB_TAB [.LOGICAL UNIT, 01; ;1
: 1228 (CB = .CCB + (TCCB™= CCB [LUBSQ_GUEVED); i ]
: 83 }; END; : 1
: 810 1759 RETURN (OTSSK_PUSH_OK); : |
: N 1750 END; ! of routine ALLOCATE 51
3]
P
s
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; Routine Size:

: 812

223 bytes,

1751 1

Routine Base:

16
04 000DE
_OTSSCODE + 017A
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: 814 17 i 1 GLOBAL ROUTINE OTS$SPUSH_CCB ( ! Get a ((B, pushin? old
: 815 17 1 LOGICAL _UNIT ! Logical unit for this C(CB
3 1? 1756 1) : JSB_CB_POSH =

; 8 1735 1

: 18 17 9 1 l+¢

: 10 }; } ; FUNCTIONAL DESCRIPTION:

3 1 17 3 1! Load register (C(B with a Rointor to the LUB/ISB/RAB for this

: 8 g 1740 1! logical unit. If no LUB has been allocated, allocate one.

: g 1741 1! 1f there is already 1/0 active push down the old ISB, etc.

3 & 174; 1 3 POP_ACTIVE will restore it. We already know that this LUN is
3 § 5 };2‘ } s not in use by FORTRAN.

: ? 1745 1 ! CALLING SEQUENCE:

; B¢28 1749 1}

3 § 3 };25 } ; CALL OTSSSPUSH_CCB (logical_unit.rl.v)

; 8% 1749 1 ! FORMAL PARAMETERS:

: !3; 1750 1!

3 gg‘ };?1 } E logical_unit.rl.v Logical unit = identifies C(B

; B35 17S§ 1 ! IMPLICIT INPUTS:

: 836 1756 1!

; 837 1755 1! OTSSSV_CCB_INIT

; 838 1756 1! OTS$SSAX_LUB_TAB

: 839 1757 1! 0TS$$Q_TO_ACTIVE

; 840 1758 1!

: 84 1759 1 ! IMPLICIT OUTPUTS:

: aag 1760 1 !

: B4 1761 1! CCB Set to adr, of allocated LUB/ISB/RAB

: B44 1?6; 1 | 07S$$Q_I0 ACTIVE Holds previous 1/0 on this LUN

; 845 1763 1! CTSSAAZLUB_TAB Set of adr. of allocated LUB/ISB/RAB

: B46 1764 1 ! for logical_unit

: 847 1765 1! LUBSW_LUN Set to logical_unit

; 848 1766 1 ! LUBSYV_10_ACTIVE Set to indicate active 1/0

; 849 1767 1! 0TS$SV_CTB_INIT Always set to 1.

; 850 1768 1 !

; 851 1769 1 ! SIDE EFFECTS:

: 85§ 1770 1!

; 85 1771 1! May call LIBSGET_VM to get virtual memory. k

: B85 177§ ! 3 In unusual cases, may call LIBSFREE_VM to free virtual memory.
3 gS };;‘ } ; The first time entered, calls INITIALIZE, which disables ASTs.
: 59 1775 1

: 858 1779 BEGIN

; 859 177

: 860 1773 EXTERNAL REGISTER

; 861 177 CCB : REF BLOCK [, BYTE);

: 86; 1780

H gb 1781 LOCAL

: 864 17 g RECURSIVE_i0; ! =1 if we are doing recursive 1/0
.

; 86 1785 ! If this is the first entry, call INITIALIZE to set up OWN storage.

3 8 17 9 ! Note that PUSH_CCB must be entered before POP_CCB, so this is the

P B69 17 | first referencé to this data base, except for FORTRAN, which is checked
; 870 1788 ! for in INITIALIZE.

-0
I -

~en

— el el BB s el il il il el el el il il il el D D ) - ) = = D ) ) ) - D ) ) - - D - el D i s D e il el e el i el el il s B

R e e s e e e P P L P L A T E PR PR T A TR L AL AT E TR TR LR TR PR PR PR TR PR PR PR TR TR TR PR TR TR TR TR TR TR TR TR T T NI




N7
OT1S$8CCB 16=Sep=1984 01:22: AX=11 Bliss=32 v4.0-74
1-35’ 12-503-1984 ?2:53:;8 !LIBRTL.SRCSOISCCB.BSZ:%
: BN 1789 -
: 87 17 ?
; 87 17 IF ( NOT .OTSSSV_CCB_INIT) THEN INITIALIZE ();
;. B74 179;
; 875 179 ‘e
: B7 1794 ! Count the level counter. This must be done before the 0TS$$V_IOINPROG
: O 1795 ! bit is set, otherwise an AST could find the OTS$SV_IOINPROG bTt set but
: B78 179? ! level counter =1, which would mean that the PUSH and POP routines
: 333 };ga E would not be called and OTS$SSV_IOINPROG would get cleared by the AST.
; 88! 1799 . OTSSSL_LVL_CTR = ,OTSSSL_LVL_CTR + 1
; ge 1381 i Mark that this LUN has 1/0 active so that its LUB (if it has one yet)
3 ggg }ggi ; will not be deallocated. If it was already active, remember that.
3 gg? }ggg ;’ RECURSIVE_I0 = (TESTBITSS (OTS$SV_IOINPROG [.LOGICAL_UNIT = LUBSK_ILUN_MIND));
: 888 1809 i 1f 1/0 is currently active, push the presently active unit.
; B89 180 l=
; 89 1808
: BN 1809 IF (.OTSSSL_LVL_CTR NEQ 0)
; 89 1810 THEN
. 89 1811 BEGIN
; 894 181;
; 895 lgl OCAL
: 8% 1814 PUSH_RESULT;
: 897 1815
: ggg }g}g g PUSH_RESULT = PUSH_ACTIVE (.LOGICAL_UNIT, .RECURSIVE_I10);
; 38? }g}g g IF (.PUSH_RESULT NEQ OTSSK_PUSH_OK) THEN RETURN (.PUSH_RESULT);
P90 1350 END;
: 90 1821
: 904 18 ; '+
: 905 18 ! Allocate the LUB/ISB/RAB if necessary. If an AST allocates it we
;. 906 1824 ! must release ours. Note that, because OTS$$SV_IOINPROG is set, if an
: ggg }g g ; AST allocates the LUB it will not be deallocated.
5 3?3 }gg‘ ) CCB = .OTSSSAA_LUB_TAB [.LOGICAL_UNIT, 0];
E 911 1829 IF (.CCB NEQA OTSSSAA_LUB_TAB [.LOGICAL_UNIT, 01)
3 91; lg 0 THEN
: N 1831 BEGIN
s 914 13;; '+ ) - :
3 g}s } % ; The CCB is already allocated. Adjust register C(B to point to it.
: 919 1335 ; CCB = .CCB + (.CCB - CCB [LUBSQ_QUEVE);
: 918 1 §9 END
: 920 1838 e e Gin
;921 1 go
i 9 g 1840 CAL
H g 2 } :1 ALLOCATE _RESULT;
: 928 } 25 ALLOCATE_RESULT = ALLOCATE (.LOGICAL_UNIT);
E & 9 1845 IF (LALLOCATE_RESULT NEQ OTS$K_PUSH_OK) THEN RETURN (.ALLOCATE_RESULT);

]

-

™
e

— s il il s, il el el il et i il il i b — =l D = s i D el el il il el s D il i el B ol il B B B BB o B a

LR TR R TR TR A A T E PR PR P TR L L L T L A L P PR PR TR PR TR PR TR TR TN TR T T T T T TR TR LA TR LETE TE TR T




N 7
0TS$8CCB 16=-Sep=-1984 01:22: AX=11 Bliss=32 V4.0-74 Page 25
1-82’ 12-503-1334 ?3:53:28 !LIBRTL.SRC!OTSCCB.832:¥ ’ (i)
; 9 1 49
: 9 184 END;
: 930 143
: 931 1849 9 !+ ,
: ¥ i 1 go i Set OTS$SL CUR_LUN to be the current logical unit number. This is
: g 2 } 51 ; the cell tRat Controls pushing.
] } gg OTS$SL_CUR_LUN = .LOGICAL_UNIT;
;937 1855 5 i'Mark this LUB as being the active one, and, if it is participating
: 833 } g? ; in recursive 1/0, mark that, too.
P 940 1§sa CCB [LUBSV_IO ACTIVE] = 1;
: 321 }agg ., CCB LISBSVCRETURSIVE] = .kecuasxve_lo;
: 943 1861 ¢ | Set OTSSSA_CUR_LUB to point to the new current LUB.
PO94S 1868 5 ° OTS$SA_CUR_LUB = ,CCB;
;. 946 1864 '+
s 947 1865 ! Initialize the STTM_STAT field of the ISB. We clear these bits so
;. 948 1866 ! that the initialization routines at UDF and REC levels can set them
3 3&3 }gg; 5 if necessary (unusual) or do nothing to have them cleared.
;951 1869 2 CCB [ISBSV_P_FORM_CH] = 0;
: 95§ 1870 CCB CISBSV_DOLLAR] = 0;
: 95 1871 CCB [ISBSV_USER LEHJ = 0;
;. 954 187§ CCB LISBSV_SLASA] = 0;
s 955 187 CCB CISBSV_LAST REC) = 0;
;956 1874 CCB [ISBSV DE ERCODSJ b;
: ggg }g;g ‘e CCB CISBSV_LIS_HEAP] = 0;
;959 1877 i When we set OTS$SV_IOINPROG we tested it to see if 1/0 was already active
;. 960 1878 ! on this LUN. If it was we must return this information to our
: 321 }ggg ! caller because some languages do not permit recursive 1/0.
P96 1881 2
: 82; }ggg IF (.RECURSIVE_IO) THEN RETURN (OTSSK_PUSH_ACT);
P 966 1884 RETURN (OTSSK_PUSH_OK) ; ,
;. 967 1885 1 END; ! End of routine OTSSSPUSH_CCB
DD 00000 OTS$SPUSH C(CB::
POSH R2 ;0 1732
SE gk €2 8000; SUBL 04. SP 3
8 Dg 080 PUSHL R2 :
05 000000006 E8 00007 BLBS OTS$8V CCB_INIT, 1% : 19N
FD94 CF 8 FB 000§ CALLS NITIACIZE :
ooooooooc D6 00013 18: INCL 01§S L_LVL_CTR P 1799
52 €1 00013 ADDLS  #8, LOGICAC_UNIT, R2 : 1804
02 000000006 00 52 E3 0001F BBCS g OTS$SSV_IOINPROG, 28 :
z D 8837 INCL F
04 AE D 9 2%: MOVL RO RECURSIVE_I0 :

-0 1
SN

LER T TN T
—t s s




8
orsssces (6-sen-1o8e 01:g2:30  yhccty BLiss32 ve.0-00z age g6 |91

000000006 ?8 ?2 ;é;t g;SSSL-LVL-CTR ; 1809
8‘ AE DD PUSHL RECURSIVE 10 P 1816
& AE DD PUSHL LOGICAL URIT : .
FEO6 3' F CALLS #2, PUSR ACTIVE : :
1 D 2 5:25 ;2§H_RESULT. ” i 1818 E
go 000000006004 %S 8020 3$: =3¥f° ?;8’SAAtkUB_TAB[RZJ. RO 1827 e
: ?s D1 805 CMPL  C(B, 5 : 1829 ; ;
ga 1; 005 BEQL 4 : 21
50 ga B 3 8? SUBL3 ga cfa RO i 1835 i !
E 58 A04B g MOVAB (RoyCcel, ccs : 4
oc 11 0005 BRB $ : 1829 g !
Se DD 806 48: PUSHL  LOGICAL UNIT 1843 :
FEBA CF 1 FB 06 CALLS #1, ALLOCATE s
01 50 D1 0006 CMPL AkLOCATE_RESULT. " 1845
28 12 0006A BNEG 7 :
000000006 00 65 D oog 5¢: MOVL  LOGICAL_UNIT, OTSSSL_CUR_LUN : 1853
FC AB 02 88 000 BISB2 #2, =4(LCB) : 1858
50 96 AB 95 0007 MOVAB -106(CCB), RO . 1859
01 A0 01 00 06 AE F 80075 INSV  RECURSIVE 10, #0, #1, 1(R0) :
000000006 00 58 DO ooa% MOVL  CCB, OTSSSA_CUR_LUB P 1863
60 94 0008 CLRE  (RO) : 1875
05 04 AE E9 00088 BLBC  RECURSIVE_IO, 68 : 1882
50 og DO 0008F MOVL  #2. RO ;
03 11 80092 BRB ;
50 01 00 00094 68: MOVL  #1, RO 1884
SE 08 €O 00097 7%: ADDL2 #8. SP : 1885
04 BA 0009A POPR  #*M<R2> :
05 0009C RSB :

; Routine Size: 157 bytes, Routine Base: _OTSSCODE + 0259

: 968 1886 1
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8 |
1S$8CCB 13-5. -1984 01:22: AX=11 Bliss=32 V4.0-74 Page : -
?-35? 14-s.3-133‘ ?}:58:33 LIBRYL.SRCSOTSCCB.BSZ: . 43 g
3 8; } 7 } ROUTINE DEALLOCATE : CALL_CCB NOVALUE = ! Deallocate LUB/ISB/RAB !
: 97 1 1 tes ?
: 3;‘ } 9? } E FUNCTIONAL DESCRIPTION: '
s 975 1 9; 1! Deallocate the LUB/ISB/RAB for this logical unit, including
: 97 1895 1! the allocated structures attached to it. Also, deallocate the
s 97 1896 1! LUN.
. 97 1895 1!
;97 1 9? 1 ! CALLING SEQUENCE:
11 1808 1 i CALL DEALLOCATE ()
: 9 i 1392 1!
; 98 1900 1 ! FORMAL PARAMETERS:
;. 984 1901 1!
; 985 1902 1! NONE
3 989 1903 1!
: 98 1906 1 ! IMPLICIT INPUTS:
; 988 1905 1!
: 989 1909 1! OTS$SSAA_LUB_TAB
: 990 1907 1! cce
;M 1908 1!
: 99 1909 1 ! IMPLICIT OUTPUTS:
: 99 1910 1!
;994 1911 1! OTS$SSAA_LUB_TAB
;995 191§ 1! cc8
3 999 191 1!
: 99 1914 1 ! SIDE EFFECTS:
: 998 1915 1!
;999 1916 1! Calls LIBSFREE_VM to free virtual memory.
: 1000 1917 1 !==
: 1001 1918 1
3 1005 1919 BEGIN
: 100 1920
: 1004 1921 EXTERNAL REGISTER
: 1005 19 ; CCB : REF BLOCK [, BYTE];
: 1006 19
: 1007 1924 LOCAL
: 1008 1925 REMQUE _ADDR ! Address for REMQUE instruction
: 1009 199 CCB_ADDR : REF BLOCK [g BYTE)
: 1010 19 BUDDY_CCB : REF BLOCK O, BYTE],
;10N 1928 LUN;
: 101§ 1929
: 181 1L '+
: 1014 1931 ! We now deallocate the LUB/ISB/RAB. An AST will not deallocate under
; 1015 19 i ! us because it will find OTSSSV_IOINPROG set at PUSH time, and will
: 1019 19 i therefore set ISBSV_RECURSIVE So as not to clear OTS$SV_[OINPROG at POP
: }8} }g e ! time or deallocate The LUB.
3 }81% }3 REMQUE _ADDR = OTSSSAA_LUB_TAB [.CCB [LUBSW_LUN], 0];
: 1031 1938 CASE (REMQUE (..REMQUE_ADDR, CCB_ADDR)) FROM 0 TO 3 OF
: 10 g 1939 SET
- 18 1940
: 1024 1941 [0, 3) : g
: 1025 l94§ '+ |
: 1026 194 ! lero means that there was more than one entry in the queue.
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?—82; 12-503-193& ?3:§3:28 LIBRTL.SRCJOTSC(B.B32; ’ <3>'
: 1027 1944 ! This inglins that we have done a CLOSE in an AiT which went off after .
: 3 1365 : S Uf but before the compensating REMQUE in PUSH_CCB. ;
3 ) 1 4? : This should never happen because ISBSV_RECURSIVE e
3 } ! }32 ; will be set in this case. ¢
P ; 19&3 i Three implies that there is nothing in the queue. l .
3 } 19 ? ! This means that an AST deallocated the LUB, which should not happen l .
: }8 e }3 ; because of the ISBSV_RECURSIVE test. :
: 10 4 2 ' LIBSSTOP (OTSS_FATINTERR); :
% 1955 (2] : :
3 18 13 '+ :
; 1040 1929 ! The queue is now o-pt{. This is correct. We can now free the LUB. .
: 1821 19 g : Note that PUSH_CCB will allocate a new LUB if an AST goes off to it :
3 ¥ i 195 ! here, and will carefully not gush the LUB we are deallocating. .
S }82‘ }gg? s First perform a consistency check. ;
;1045 1962 ' 5
H }82? }gg‘ IF (.CCB_ADDR + (.CCB_ADDR - CCB_ADDR [LUBS$Q_QUEUE]) NEQA .CCB) THEN LIBSSTOP (OTSS_FATINTERR); :
: 1048 195 2 CINRANGE, OUTRANGE] : 5
. .Q -
: 1050 1329 ! This shouid never happen. The only possible values of REMQUE are ;
: 1051 1968 ! 0, 2 and 3. :
: 105§ 19?9 - ;
: 105 1970 LIBSSTOP (OTSS_FATINTERR); :
B B, = :
: 1056 1978 5 1 :
: 1057 1974 ! Since the LUB/ISB/RAB can no longer be used, clear its OTSSSV_IOINPROG ;
3 }8?3 }3;; ; bit. An AST after this point will not indicate recursive 1/0: .
: 1060 1977 2 ° :
3 }8%1 }g;s IF (TESTBITCC (OTSSSV_IOINPROG [.CCB [LUBSW_LUN] = LUBSK_ILUN_MIN])) THEN LIBSSTOP (OTSS_FATINTERR); :
i 1068 1980 2 !+ ;
: }82? }331 ; Clear this LUN's buddy's buddy pointer, which points to us. :
: 1066 }335 " BUDDY_CCB = .CCB [LUBSA_BUDDY_PTR); :
: 1068 1985 IF (.BUDDY_CCB NEQA 0) THEN BUDDY_CCB [LUBSA_BUDDY_PTR] = 0; :
: 1§90 1987 5 14 :
3 }O;§ }gag 5 Free the record buffer if we allocated it. .
: 107 1990 ¢ :
: ;8;; }9’31 %;E:‘ ( NOT .CCB CLUBSV_USER_RBUF]) AND (.CCB [LUBSA_UBF] NEQA 0)) :
: }§;9 }?’gs BEGIN :
: 1078 1995 LOCAL
; } 79 }339 FREE_VM_STATUS;
: }83 1 }9’33 FREE_VM_STATUS = LIBSFREE_VM (XREF (.CCB [LUBSW_RBUF_SIZE)), CCB [LUBSA_UBF]);
; loai 2000 IF ( NOT .FREE_VM_STATUS) THEN LIBSSTOP (OTSS_FATINTERR);
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IF ( NOT .FREE_VM_STATUS) THEN LIBSSTOP (OTSS_FATINTERR);
CCB [LUBSV_VIRT_RSN] = 0;
END;

i Free the prompt buffer, if there is one.

SEIRFRERSS

BEGIN

PORINIRINIRINONON) — = b o b s b b s 2 O

IR = OO0 NO WSS NN = O V00 NN SN = O

0CAL
FREE_VM_STATUS;
IF (C.cce CRABSL_PBF) NEQA 0) AND (.CCB [RABSV_PMT1))

OCO0O0000O0O00CO0O0O0OCO0O0O0COO0O0O0OO0O

NN NN

BEGIN

FREE_VM_STATUS = LIBSFREE_VM (XREF (LUBSK_PBUF_SIZ), CCB [RABSL_PBF]);
IF ( NOT .FREE_VM_STATUS) THEN LIBSSTOP (OTSS_FATINTERR);

END;

&
-
+
END;
4
4
+

— B o B D D D el h b

VAN =2 OO NO WS LWIN OOV NO VS WN —-O

gQOOOOO
uu\:m

)
! Remember the logical unit number, since we will need it in a minute.

SRR

NN S NN = OOV 00 NN WWIN) - O 000

]
: LUN = .CCB CLUBSW_LUN];

% Now, at last, we can free the CCB itself.
]

BEGIN

LOCAL
FREE_VM_STATUS;

FREE_VM_STATUS = LIBSFREE_VM (XREF (K_TOTAL_CCB_LEN), ZREF (.CCB = 1SBSK_ISB_LEN = LUBSK_LUB_LEN));
IF ( NOT .FREE_VM_STATUS) THEN LIBSSTOP (OTSS_FATINTERR);

END;

|

g Free the file name string, if it is allocated.
IF (.CCB CLUBSV_VIRT_RSN])

THEN

BEGIN

LOCAL

FREE_VM_STATUS;

FREE_VM_STATUS = LIBSFREE_VM (XREF (.CCB [LUBSB_RSLJ]), CCB CLUBSA_RSN]);
]

]

4

3

4

4

4

&

4

i END;
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T1S$8CCB 16=-Sep=1984 01:22: AX=11 Bliss=32 V4&.0-74
?-82% 1 -505-1384 ?5:55:28 LIBRTL.SRC’OTSCCO.BSZ:%
: 1141 gs ! Since the (CB points to deallocated storage, clear register C(B so
3 }}2; 3 ; that, if anybody refers to it, we will get an access violation.

: 1164 1 (c8 = 0;
: 1145 i '+
: 11&? ! It the user's program is still running (i.e., if we are not in the
: 114 ! exit handler) then the user must have done an explicit CLOSE to cause
3 1168 S ! this LUB to be deallocated. In that case we must clear the LUN
: 114 ! allocation so he can do another OPEN on this same logical unit.
; 1150 ! Note that LUNs less than zero do not have allocation bits since they
: }} 1 68 ; cannot be opened explicitly by the user.
N ; 0
: 1154 071 IF (.LUN GEQ 0/
3 }} b) 8;§ THEN
: }}éz 8;g IF ( NOT OTSSSFREE_LUN (LUN)) THEN LIBSSTOP (OTSS_FATINTERR) ;
: 1159 07? RETURN;
: 1160 07 END; ! of routine DEALLOCATE
003C 00000 DEALLOCATE:
.WORD Save R2,R3,.R4.RS
gs 000000006 00 9E 00002 MOVAB  LIBSFREE_VM, RS
& 000000006 00 98 00009 MOVAB LIBSSTOP Ré
§2 000000006 8F DO 00010 MOVL  #OTSS_FATINTERR, R3
SE 0cC % 80017 SUBL?2 013 Sp
50 €6 AB 001A CVTWL  =S8(cCB), RO
51 0000000060040 E 0001E MOVAQ OTSSSAA LUB _TAB+64[R0], REMQUE_ADDR
52 00 81 OF 00026 REMQUE GO(REHOUE_AUDR). CCB_ADDR
S0 »C 800 A MOVPSL RO
50 50 02 01 EF 0002C EXTZV M, ls. Rg. RO
03 00 S0 <CF 00031 CASEL RO, #0, »
0018 000A 0018 0018 00035 1%: .WORD g:-}:.-
$-18.~-
$-13%
0E 11 80030 BRA $
50 52 5 53 003F 2%: SUBL3 CCB_ADDR, CCB_ADDR, RO
50 58 AO% ? 843 MOVAB  88(R0)CCCB_ADBR], RO
1] S0 O 4 CMPL RO, CCB
5 13 00048 BEQL 4
> DD 4D 3%: PUSHL R
4 , B 4F CALLS #1, LIBSSTOP
0 6 AB 3 52 4$: cviwL  =58¢CCB), RO
0 C 02 ADDL #8, RO
05 000000006 00 €4 BBSC Rg. OTSSSV_IOINPROG, 5%
DD () PUSHL R
26 01 F CALLS #1, LIBSSTOP
0 B8 A g 5%: MOVL  =72(CCB), BUDDY_CCB
0 A BEQL 6;
B8 A 86 8 C CLRL -72(BUDDY_(C(B)
FF AB 5 6F 6%: 1§18 -1(CCB)

o
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; Routine Size:

16

265 bytes,

08 AE

08 AE

FE

07
08 AE

04 AE

000000006 00
64

Routine Base:

9 ¢ A

1
1
i
§E fe
oF 8aget
8 Goos?
0D A
Fs ¢
F AB f
F AB 9F 3
F AB 9A 96
08 AE 9F 00098
Fg 009%
E 08A
DD 000A4
1 FB OOAg
1 8A 000A
30 A8 Dg 00AD
18 13 0008
06 51 008
20 AB 9F 0008
0 8F 9A 000BA
08 AE 9F 8003F
2 Fg 00C§
E8 000C
53 DD 000C8
01 Fs 00CA
(6 AB 3 00CD
FEEO CB 9E 000D
04 AE 9F 000D
0164 8F 3C 000DB
06 A F 000E1
2 Fg 00E4
E8 000E7
33 DD OOOEA
1 FB 000EC
B D4 000EF
08 AE D5 000F1
08 AE 9F O00rS
i o o%ors
3 Bo 001
0D 001
01 FB 001
04 00108

-OTSSCODE + 02F6

:

-Sep-1
-803-1

~
>

10%:

11%:

-
o
L

o8 9388138

!AX—]I BLisg=32 v4.0-74
LIBRTL.SRCJOTSCCB.B32;

=100(CCB)
ccB)
(B8), 8(SP)

$FREE_VM
_STATCS, 78

EE_VM
10s, 8s

IBSFREE_VM
VM_STATOS, 118

LIBSSTOP
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: ROUTINE POP_ACTIVE : CALL_CCB NOVALUE = ! Pop old active unit

i |
FUNCTIONAL DESCRIPTION: |

Restore the status of an interrupted 1/0 *tatoncnt using the
information saved when the statement was interrupted. Ll of
the ISB is restored, and a few other things. In some unusua}
cases there is no C(B to restore to, so only OTSSSL_CUR_LUN is
restored.

CALLING SEQUENCE:
CALL POP_ACTIVE ()

FORMAL PARAMETERS:
NONE

IMPLICIT INPUTS:
The DEALLOC bit in the LUB

IMPLICIT OUTPUTS:

The 1SB, and some other fields of the C(B
cce The restored CCB

~ N

|
i

)

R R R R AR 2SIV IRANIISEIS IR

~N <~

WSS i) = OO 00

0

38323233

Wmdﬂ‘dd‘dd-‘ddd‘dd‘dddd‘dddddddddddd

SIDE EFFECTS:
Calls LIBSFREE_VM to free virtual memory.

BEGIN

EXTERNAL REGISTER
CCB : REF BLOCK [, BYTE];

D et D T L O T S S Y S ———

SRCRCS SRS PoeSS

AR AN SOIBIT AR SS

P e e

LOCAL
9 PUSH : REF BLOCK [PUSHSK_LENGTH, BYTE] FIELD (PUSH_ITEM),
LUN; ! Logical unit number being restored

‘e
! Get an activation record off the 1/0 Active queue. It had better
; be there.

IF (REMQUE (.OTSSQ_IO_ACTIVE C[O], PUSH)) THEN LIBSSTOP (OTSS_FATINTERR);

— et il el el el D D el D il ol ) S D e ) S e il D S el el il el D el D el ) D il D ) D il el e ) e e e i il el e e e e i D D D el i

QPN N N S Y — — g Y— g Y Yp— — g g e Y Y — — Y

SNV = OOV NS W —=O OV

NN NN NININI NI NI NINININ) = —

1510

: 1" ‘e

3 }i ! Fetch the logical unit number associated with this record.
: 1 :. LUN = .PUSH CPUSHSW_LUN];

; }g % If this is a fake activation record, just store the LUN.
;1218 '
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] 1§ F_C.PUSH [PUSHSY_FAKED)

OTSSSL_CUR_LUN = .LUN
ELS

‘e BEGIN

i If this LUN does not have 1/0 in progress then something is very

4

3

4

4

i

i

; wWrong.

IF ( NOT .OTSSSV_IOINPROG [.LUN = LUBSK_ILUN_MIN]) THEN LIBSSTOP (OTSS_FATINTERR);

‘e
! There was previous 1/0. Restore the ISB, etc of the pushed unit.
! Because of ASTs, we must store OTSSSL_CUﬁ LUN before copying

! data from the 1/0 Active entry becausé only the LUN indicated by
; OTSSSL_CUR_LUN will get pushed.

0TSSSL_CUR kU“ = .LUN;

CCB = -OTSSSAA LUB TAB t.tuu 03;

(C8 ;A.Ecs ouétca to, 0, 0, 03 ="ccB [LUBSQ_QUEUED);
' L]

.CCB;
(B [LOBSV IO ACTIVE) = ,PUSH CPUSH$V_I0_ACTI;
RABSL"STS) = .PUSH ErususL srsi:

VLSS Y O 0D ~NO N D
V00 N N S N = OO 00 O WV B iR = OO~ N

RABSL™STV] = .PUSH

- PUSHSLZSTV
RABSB_TMO] = .PUSH

PUSHS$B~TMO

AES i) —

BEGIN
CCB [(RABSB PSZE = ,PUSH [PUSHS$B_PSZ];
E:gHOVE (.TCB [RABSB_PSZ], PUSH™[PUSHST_PROMPT], .CCB [RABSL_PBFJ);

% CHSMOVE (1SBSK_ISB_LEN, PUSH CPUSHS$X_ISB], .CCB - ISBSK_ISB_LEN = LUBSK_LUB_LEN);

! If the LUN has been marked for deallocation (which means that it
! has been closed but not deallccated yet because it has 1/0 in

- progross) then clear the statement type field so that all

! continued 1/0 will fail. The statement type must be set so that
; the owning Language will get an error when [/0 continues.

51

VIV

oo
W-‘SOC%U‘DW

F (.CCB [LUBSV_DEALLOC))
THEN

= OOV® NN NN - OO0

CASE CCB [LUBSB_LANGUAGE] FROM LUBSK_LANG_MIN TO LUBSK_LANG_MAX OF
[LUBSK LANG_FOR] :
CCB CISBSB_STTM_TYPE)

[LUBSK LANG BAS) :
cce [lSBgB.SITH_TVPE]

[LUBSK_LANG NONE] :
CCB [1SB$8_STTM_TYPE)

W~

ISBSK_FORSTTYLO - 1;

1SBSK_BASSTTYLO = 1;

»
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- OO0 wno
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: 127

[OUTRANGE] :
TES LIBSSTOP (OTSS_FATINTERR);

vt et S AP

e
; We are done with the item from the I/0 Active List, free it.

BEGIN

CAL
FREE_VM_RESULT;
FREE_VM_RESULT = LIBSFREE_VM (XREF (PUSHSK_LENGTH), PUSH);
IF ( NOT .FREE_VM_RESULT) THEN LIBSSTOP (OTSS_FATINTERR);

SEGRERSSSRIRARES

AN AIPINININININIAININININD = e o e e i o ch
— e e ek DO
W = OO0

e el e o e o el e e ) e e o el e e e D o e

JRERES2EITEIEA

£
END; ' of routine POP_ACTIVE
03FC 00000 POP_ACTIVE:
.MORD  Save R2,R3,R4.RS,R6,R7.R8,R9 ; 2078
59 ooooogooc 00 9E oooos MOVAB OTSSSL CUR kun. R9 :
s; 80000 006 00 9E 0000 MOVAB LIBSSTOP, R ;
ge 00000006 85 o§ 88}9 gg;tz zgrsgprAfxnrena. R7 :
04 AE 00000000° r; §E 08813 35?°”E ?gfstﬂ_lo_ACYlVE. PUSH P 2125
27 00 00024 PUSHL R7 ;
68 01 FB 00026 CALLS #1, LIBSSTOP ;
56 04 AE g§ 0029 1% MOVL  PUSH, Ré P 2130
52 10 A6 002D CVTWL  16(R6), LUN :
05 1% Aé 1 E1 00031 BB( #1, 20(R6), 2% ;2135
69 2 ?? 88 gggL bgn. 0TS$SL_CUR_LUN : 237
53 08 A 98 0038 2% MOVAB 8(R2), R3 P 2145
05 000000006 00 g 50 845 gngL g;. ofs$$v_I0INPROG, 38 :
68 21 rs 8«9 CALLS #1, LIBSSTOP :
69 i 9 4C 38: VL LUN, OTS$SL_CUR LgN ;2153
- oooooooocoogE o' 04F :getAo g{ggng_%gg_tAatn ] : 2154
50 ga 58 sg §$ SUBL3 Sga cia RO i 2155
3 58 AO4B MOVAB (RO) ‘é"- CCB ;
000000006 8 S8 D é MOVL 83 oTs sA_c¥n_Lua P 2156
FC AB 01 1 1% A6 F 9 INSV (R6), #1,"#1,7-4(CCB) i 2157
?a AB ?g A6 7 2 MOVQ (R6), ‘8(C(B) : 2158
F AB A 9§ 7 MOVB 9(R6S. 31(CCB) : 216
OF 14 A6 0 7A BBC 'ﬁ olag» I8 1 216
3, AB 12 A6 90 0007F move  18(r6), S2{cce) ;216
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; Routine Size:

; 1298

30 o
i
¥t

213 bytes,

2214

1

g B
i 3
FF

0080
68

FF71 (B

04 AE

000000006 00
05

68

Reutine Base:

34 As
008C é{
b8 A

0012

7

1

i

04

FF71 (B
4 AE
01%1 8F
b
57

01
_OTSSCODE +

K 8
14-3ep-1

COMPrLNLO
- —oooo>

OO0 O0O0O0OO0OO0O0OO0O0O00O OO0 O000O

OO0 00O000O000000O OO00000O
» > >
OO~
o~ O
Ll

DO DDDME >

OMOM N OO O OO
OO0 O0ODOO0OOOOOO0O OO0 O00O

S WOODWMNO NP =DO=DO

o
W
-
-

984 AX=11 Bliss=32 V4.0=74
93 ?} 58 ig LIBRTL.SRC orsc (B.B32;
MOVZBL
novcg § 5?(& ), 48(
MOV ( ? ﬁe» 5ggtcca)
BB( (cca
CASEB -46 cc8)., nb
.WORD .-
9 23
PUSHL R
gakL #1, LIBSSTOP
MOVB  #26, =143(CCB)
BRB 8
CLRB  =143(CCB)
PUSHAB ’gg*
MOVIWL #289, 4(SP)
PUSHAB 4 PS
CALLS LIBSFREE VM
BLAS rnée _VM_RESUCT, 9%
PUSHL R7
CALLS #1, LIBSSTOP
RET

LA TR TR PR PR PR TR PR T A TR PR TR IR R P LR LR L T TR

2194
2188

19
207

2209

2213
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GLOBAL ROUTINE OTSSSPOP_((B ! Restore old C(B

: JSB_CB_POP NOVALUE =

lee

! FUNCTIONAL DESCRIPTION:

Restore the 1/0 slston to its state before the call to
PUSH_CCB. Clear LUBSV_IO ACTIVE. 1If the I/0 active list
is empty, clear OTSSSACCUR_LUB, otherwise set it to

its previous value and resfore its ISB, etc.

If virtual memory for a compiled format is allocated for this
ISB, it is freed.

CALLING SEQUENCE:
CALL OTSSSPOP_C(CB ()
FORMAL PARAMETERS:

AN = O O 00 NOM N S N = O O 00 N ON WSS LN = OO O ~NO W

ANININONI AN NN NINININININLNLNLNINO PO NININ PONINININOND

WA = OO 00NN NI N = O O 00 NN S N = OO 00

B .. .-

: 1

: 3 1

: 1 1

: 1 1

: 1

: 1

: 1

: 1

: 3 1

I | 1

: | 1

; 3 1

;s 3 1

B 1

: 1 1

: 3 1

;0 1 1

: 1

: 1 1

: 3 1

; }i é } NONE

: 1 1 IMPLICIT INPUTS:

3 lg g 1

3 | 1 (o]

; 13 40 1 OTSSSAA LUB TAB

3 }g 2 } oT1s$sa_TO_ACTIVE

: 13 gk 1 IMPLICIT OUTPUTS:

: 1; W 1

: 1 245 1 cc8 Set to previous LUB/ISB/RAB

: 133 %46 1 OTS$$Q_10 ACTIVE Holds one fewer item

; 133 4“7 1 Luesv_TO_ACTIVE C(leared to indicate 1/0 no longer active,
: 13 248 1 but may be set by the pop from the
: 13 549 1 1/0 Active Llist.

; 1335 50 1

: 13 251 1 ! SIDE EFFECTS:

: 1;;7 25§ 1 L

; 1338 253 1 May call LIBSFREE_VM to free virtual memory.

: 1339 54 1 !==-

: 132? gs ] BEGIN

i 1348 i EXTERNAL REGISTER

3 1326 ?3 CCB : REF BLOCK [, BYTE];

At $ 4.

: 1 9 6i ! 1f the LUB has been marked for deallocation (by CLOSE) and there is
: lgzs 6 ! no 1/0 active, deallocate it. If there is 1/0 Active, the

: 1 64 ! deallocation must be defered until after all of the 1/0 has completed
3 1;50 65 ! to insure that the continued [/0 will get the ''1/0 continued to closed
: 1351 6? ! file' error.

i 1338 e 5

: } gg 8 %zeg.cca CLUBSV_DEALLOC] AND ( NOT .CCB [ISBSV_RECURSIVE]))

; 1356 " DEALLOCATE ()

T E R R R E T T e e s s s s e e e TR PR R L L P L P L P T E TR L P P P T T T T T T P T R TR LR TR SR T E T T 1)
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: 1337 ELSEBEG!N

E This is no longer the unit with 1/0 active.
CCB CLUBSV_IO_ACTIVE] = 0;

e

! See if 1/0 will continue on this unit, It will continue if
! ISBSV_RECURSIVE is set, which means that PUSH _CCB was called
! with T/0 in progress on this LUN. We make thTs test before
! restoring the I5B because we may be restoring to the same

! LUN, and the former |/0 may be Sho toB Level of 1/0 for this
; LUN, and if so it will have ISBSV_RECURSIVE clear.

00 N O NS~ LN = O O 00 ~NON N SN irY

IF CC.OTSSSL_LVL_CTR EQL 0) AND (.CCB CISBSV_RECURSIVE])) THEN LIBSSTOP (OTSS_FATINTERR);
IF_( NOT .CCB CISBSV_RECURSIVED)
THEN

gmm”w SNNNSNNNNN

90

SNSNSNSNNNNYNN
WA = O 000 NS AN = OO0

If (TESTBITCC (OTSSSV_IOINPROG [.CCB CLUBSW_LUN] = LUBSK_ILUN_MIND))
LIBSSTOP (OTSS_FATINTERR);

N M LN N N NN

'+

! Since OTSSSV_IOINPROG may now be clear, our CCB may be deallocated, so
! we cannot touch it again. For that matter, we may have deallocated

it ourselves above.

b33
2
©

0
gog l: Ehero was previous 1/0, restore it. Otherwise return to the idle
state.

IF (.OTSSSL_LVL_CTR NEQ 0)
THEN

POP_ACTIVE ()
ELSE

BEGIN
OTS$SA_CUR_LUB
gtgtSL_CUR_LUN

0;
LUBSK_LUN_MAX + 1;

4
! Decrement the level counter, If we are at the top level the level
! counter will go from 0 to ~-1.

B B B B Wt Ll W W U W A U A U N NN N N

SERENSSERIRJREN28TEIR

OTSSSL_LVL_CTR = ,OTSSSL_LVL_CTR = 1;
RE TURN;
END; ! of routine OTSSSPOP_C(B

OO0
oo~
=2 AININI N NINININY LNININNO NI NI AN NI NI NI NI NI NI NI NI AU LA U A S W U 8™ W U W U A U AN AN U U N LA LA NN NN
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08 FF AB 04 E1 00000 OTS$SPOP_C(B::
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N 8
0TS$$CCB 16=Sep=-1984 01:22: AX=11 Bliss=32 V4.0=74
1-35’ 14-s.3-193& ?3=§3=§8 LlBRTL.SRC!OTSCCB.BSZ:%
BBC #, =1(CCB), 18
07 97 AB E8 oogs BLBS  -105(CcB), 1s
FE14 CF g v? 80 9 CALLS  #0, DEALLOCATE
D 1 oos BRB 4
FC AB 88 8A 00010 1$: BICB2 #2, =4((CCB)
000000006 o ?é 88}: gagh gI§SSL_LVL-CTR
1 97 AB E9 0001C BLBC  -105(ccB), 38
000000006 3: 00 00020 PUSHL  #0TS$S FATINTERR
000000006 00 1 F 80 6 CALLS #1, LIBSSTOP
1 97 AB § 02D i' BLBS  -105(CCB), 48
g 6 Ag 88 } 5 cvrui -5 (csa>. RO
g C ADDLZ #B, R
0D 000000006 00 0 €& 000 3 BBSC RO, OTSSSV_IOINPROG, 4$
000000006 8F DD 0004 PUSHL #0fs$ FATIRTERR
000000006 00 81 P 8046 CALLS M1 krassrop
000000006 9 ?E oogg 48: ;Egt g;és L_LVL_CTR
FED1  CF 8g 5? 3§§A gagLs zg. POP_ACTIVE
000000006 80 D4 oooss 58: CLRL  OTS$SA_CUR LUB
000000006 00 78 BF 9A 0006 MOvZBL #120, OTSSSL_CUR_LUN
0000006006 00 D7 0006A 6$: DECL  OTS$$L_LVL_CTR
05 00070 RSB
; Routine Size: 113 bytes, Routine Base: _OTSSCODE + 04Dé&
: 1408 323 1
;1409 5354 1 END 'End of module OTS$SCCB
: 1410 2325 1
P1e1 2326 0 ELUDOM
: PSECT SUMMARY
E Name Bytes Attributes
: _OTSSDATA 8 NOVEC, WRYT, RD ,NOEXE,NOSHR, LCL, REL, CON, PIC.ALIGN(%)
: TOTS$CODE 1349 NCYEC.NOWRT., RD . EXE. SHR. LCL. REL. CON. PIC.ALIGN(2)
; Library Statistics
e e b e e R A e e e o Symbols =======- Pages Processing
3 File Total Loaded Percent Mapped Time
i _$2558DUA28:[SYSLIBISTARLET.L32;1 9776 20 0 581 00:00.8
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COMMAND QUALIFIERS
BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE) /NOTRACE/LIS=LIS$:0TSCCB/0BJ=0BJS:0TSCCB MSRCS:0TSCCB/UPDATE=(ENHS:0TSCCB)

Sizo- 369 c + B data bytes
Time: 3
Hlanrtlian
nes n:
Lexemes/CPU-Min: 3’23&

[ Used: 185 pages
Compilation Complete
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